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T2 f(x) = 2% + 227 —x +k7F QA x - 1& 1= 7HE o, o]
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® (x-2)(x-1)(x+1) @ (x-x(x+2)

@ (x+1)(x=-1)(x+2) @ (x=2)(x-1)(x+2)



3. ¥ -6x2+11x-62 QA5ES| 5HA?

O (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)
@ (x-1)(x-2)(x-3) @ (x+1)(x+2)(x-3)
® (x—1)(x-2)(x+3)



4. ko] gtol TA/CN(2K® - 3k)x — (k + 2)y - (k* — 4)z = 28°] 4
AHSIER xy, 20 FS AT o, 3x+y + 29 FHL?
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9.  a(?*-c?) +b(c*-a?) +c(a® - b?*) & A5ElotE?

® ~(a-b)(b-o)c-a) @ (a-b)b-c)a-c)
® —(b-a)(b-c)(c—a) @ (a-b)(b-c)(c—a)
® (a=b)(b—c)c+a)



10, x+y+z=0, 2x—-y-Tz=

3= Al HFHAIZI= x,y, zol sk
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12. x* 4 3x% + 45 vl27 A-Es)g 229

O (2+x+1)(x2-2x+1) @ (2 +2x+2)(x2-x+2)
® (?—x+2)(x+x+2) @ (P+x-1)(x%>-2x+1)

® (RP+x-2)(xP+x+2)



13. M AL a,b,c7Va+b+c=3, a®>+b>+c2=9, a®+b3 4+ =24
E WAL o, ot + bt + ¢t +19] G FotH?

@D 69 @ 70 ® 71 @ 72 B 73



14.

bx(a®x? + 2a%y? + b?y?)

+ay(a2x2 +2b%x2 + bH?)

bx + ay
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-

D ax2 + b2y
® (bx+ay)?

® (ax+ by)(bx + ay)

bx + ay

@ (ax+ by)?

@ 2(a%x% + b%y?)



15. o3 4 (a+b+c)(ab + bc + ca) — abc 2] 57} opd A9

® a+bd @ b+c ® c+a
@ b-a B -bh--c



